

Sektion 23 - Struktur algebraisch

Exercise 08: 10P

1. a) $x \circ y = 8xy + x + y \stackrel{3P}{=} 8x(y + \frac{1}{8}) + y + \frac{1}{8} - \frac{1}{8} \stackrel{3P}{=} (8x+1)(y + \frac{1}{8}) - \frac{1}{8} \stackrel{4P}{=} 8(x + \frac{1}{8})(y + \frac{1}{8}) - \frac{1}{8} \quad \forall y, x$

b) $x \circ x = 1 \Leftrightarrow 8x^2 + x + x = 1 \Leftrightarrow 8x^2 + 2x - 1 = 0 \Leftrightarrow x \in \{-\frac{1}{2}, \frac{1}{4}\} \quad 10P$

c) $\forall x, y \in \mathbb{R}$

$$f(x \circ y) \stackrel{1P}{=} 8(x \circ y) + 1 \stackrel{1P}{=} 8 \cdot \left(8(x + \frac{1}{8})(y + \frac{1}{8}) - \frac{1}{8} \right) + 1 \stackrel{1P}{=} 8^2(x + \frac{1}{8})(y + \frac{1}{8}) \stackrel{1P}{=} (8x+1)(8y+1) \stackrel{1P}{=} f(x) \cdot f(y)$$

Atunci, pt $x, y, z \in \mathbb{R}$ obtinem:

$$f(x \circ y \circ z) \stackrel{1P}{=} f((x \circ y) \circ z) \stackrel{1P}{=} f(x \circ y) \cdot f(z) \stackrel{1P}{=} [f(x) \cdot f(y)] \cdot f(z) \stackrel{2P}{=} f(x) \cdot f(y) \cdot f(z)$$

2. a) $2 * 9 = 2^{2 \log_3 9} = 2^{2 \cdot 2} = 2^4 = 16 \quad 10P$

b) $2 * 3 = 25 \Leftrightarrow 2^{2 \log_3 3} = 25 \Leftrightarrow 2^2 = 25 \Leftrightarrow 2 = \pm 5$
 Dar $x > 0 \quad 2P \Rightarrow x = 5 \quad 2P$

c) $\forall x, y \in (0, \infty) \quad 1P$

$$x * y \stackrel{1P}{=} 2^{2 \log_3 x} \cdot 2^{2 \log_3 y} \stackrel{2P}{=} (2^{\log_3 x})^2 \stackrel{2P}{=} (y^{\log_3 x})^2 \stackrel{2P}{=} y^{2 \log_3 x} \stackrel{2P}{=} y * x = x \text{ comutativitate pe } \mathbb{H}$$

3. a) $\forall x, y \in \mathbb{R} \quad 1P$

$$(x+7)(y+7) - 7 \stackrel{3P}{=} x^2 + 7x + 7y + 49 - 7 \stackrel{3P}{=} x^2 + 7x + 7y + 42 \stackrel{3P}{=} x \circ y$$

b) $x \circ x = x \Leftrightarrow (x+7)^2 - 7 = x \Leftrightarrow (x+7)^2 = x+7 \Leftrightarrow (x+7)^2 - (x+7) = 0$
 $\Leftrightarrow (x+7)(x+6) = 0 \Leftrightarrow x \in \{-7, -6\} \quad 2P$

c) Notăm $2019^a = x \quad 1P$

$$x \circ (-6) = 1 \Leftrightarrow (x+7)(-6+7) - 7 = 1 \Leftrightarrow x+7 = 8 \Leftrightarrow x = 1 \quad 2P \quad | \Rightarrow$$

$$\stackrel{2P}{\Rightarrow} 2019^a = 1 \stackrel{2P}{\Rightarrow} a = 0 \in \mathbb{R} \text{ soluție}$$

Section 23 - Structures algebrice

Aprofundare 08:10P

1. a) $f \in x, y \in \mathbb{R}$ 1P

$$4\left(x + \frac{3}{4}\right)\left(y + \frac{3}{4}\right) - \frac{3}{4} \stackrel{3P}{=} 4xy + 3x + 3y + \frac{9}{4} - \frac{3}{4} \stackrel{3P}{=} 4xy + 3x + 3y + \frac{3}{2} = 20y$$

b) $f \in x \in \mathbb{R}$ 1P

$$20x = 4\left(x + \frac{3}{4}\right)^2 - \frac{3}{4} \quad 1P$$

$$\Rightarrow 20x \circ x \stackrel{1P}{=} (20x) \circ x \stackrel{2P}{=} 4\left(20x + \frac{3}{4}\right)\left(x + \frac{3}{4}\right) - \frac{3}{4} = 4\left[4\left(x + \frac{3}{4}\right)^2 - \frac{3}{4} + \frac{3}{4}\right]\left(x + \frac{3}{4}\right) - \frac{3}{4}$$

$$\stackrel{2P}{=} 4^2\left(x + \frac{3}{4}\right)^3 - \frac{3}{4} = 1 \text{ ecuatia derivat}$$

$$4^2\left(x + \frac{3}{4}\right)^3 - \frac{3}{4} \stackrel{1P}{=} -\frac{1}{2} \Rightarrow 4^2\left(x + \frac{3}{4}\right)^3 = \frac{1}{4} \Rightarrow \left(x + \frac{3}{4}\right)^3 = \frac{1}{4^3} \Rightarrow x + \frac{3}{4} = \frac{1}{4} \Rightarrow$$

$$\Rightarrow x = -\frac{1}{2} \in \mathbb{R} \quad 2P$$

c) $f(x) \circ f(y) \stackrel{2P}{=} 4\left(f\left(x + \frac{3}{4}\right)\right)\left(f\left(y + \frac{3}{4}\right)\right) - \frac{3}{4} \stackrel{2P}{=} 4 \cdot a e^x \cdot a e^y - \frac{3}{4} \Rightarrow$ *relatia derivat*

$$4a^2 e^{x+y} - \frac{3}{4} \stackrel{2P}{=} a e^{x+y} - \frac{3}{4} \quad \forall x, y \stackrel{2P}{=} 4a^2 = a \Rightarrow a \in \{0, \frac{1}{4}\} \quad 2P$$

2. a) $f \in x, y \in \mathbb{R}$

$$7(x+1)(y+1) - 1 = 7xy + 7x + 7y + 6 = 20y \quad 10P$$

b) $f \in x \in \mathbb{R}$ 1P

$$20x = 7(x+1)^2 - 1 \quad 1P$$

$$20x \circ x = (20x) \circ x \stackrel{1P}{=} 7(20x+1)(x+1) - 1 = 7^2(x+1)^3 - 1 \stackrel{1P}{=} \Rightarrow \text{ecuatia derivat}$$

$$7^2(x+1)^3 - 1 \stackrel{1P}{=} x \Rightarrow 7^2(x+1)^3 \stackrel{1P}{=} x+1 \Rightarrow (x+1) \left[7^2(x+1)^2 - 1\right] \stackrel{1P}{=} 0 \Rightarrow$$

$$\Rightarrow x = -1 \text{ SAU } 7^2(x+1)^2 \stackrel{1P}{=} 1 \Rightarrow (x+1)^2 = \left(\frac{1}{7}\right)^2 \Rightarrow x+1 = \pm \frac{1}{7} \Rightarrow x \in \left\{-\frac{6}{7}, -\frac{8}{7}\right\}$$

$$\Rightarrow x \in \left\{-1, -\frac{6}{7}, -\frac{8}{7}\right\} \quad 1P$$

c) $a \circ b \circ c = (a \circ b) \circ c = 7[a \circ b + 1](c+1) - 1 \stackrel{2P}{=} 7^2(a+1)(b+1)(c+1) - 1$

$$\Rightarrow 7^2(a+1)(b+1)(c+1) \stackrel{2P}{=} 49 \Rightarrow (a+1)(b+1)(c+1) \stackrel{2P}{=} 1$$

$$a, b, c \in \mathbb{N} \quad 1P \quad \Rightarrow a+1 = b+1 = c+1 = 1 \Rightarrow$$

$$\Rightarrow a = b = c = 0 \quad 2P$$

3. a)
$$\begin{array}{c|cccccc} x & \hat{0} & \hat{1} & \hat{2} & \hat{3} & \hat{4} & \hat{5} & \hat{6} \\ \hline x^2 & \hat{0} & \hat{1} & \hat{4} & \hat{2} & \hat{2} & \hat{4} & \hat{1} \end{array} \quad 7P$$

$$\Rightarrow H = \{\hat{0}, \hat{1}, \hat{2}, \hat{4}\} \quad 3P$$

b)
$$\begin{aligned} \hat{0} &= \hat{0} + \hat{0} = \hat{0}^2 + \hat{0}^2 & ; & & \hat{1} &= \hat{1} + \hat{0} = \hat{1}^2 + \hat{0}^2 & ; & & \hat{2} &= \hat{2} + \hat{0} = \hat{3}^2 + \hat{0}^2 \\ \hat{4} &= \hat{4} + \hat{0} = \hat{2}^2 + \hat{0}^2 & ; & & \hat{3} &= \hat{1} + \hat{2} = \hat{1}^2 + \hat{3}^2 & ; & & \hat{5} &= \hat{1} + \hat{4} = \hat{1}^2 + \hat{2}^2 \\ \hat{6} &= \hat{2} + \hat{4} = \hat{3}^2 + \hat{1}^2 & & & & & & & & \end{aligned} \quad 10P$$

c) $x \in \mathbb{Z}_7 \Rightarrow x^7 \stackrel{3P}{=} 1 \Rightarrow x^{2004} = x^{7 \cdot 286 + 2} = (x^7)^{286} \cdot x^2 = 1 \cdot x^2 = x^2 \stackrel{2P}{=} x \Rightarrow$

$$\Rightarrow \left\{x^{2004} \mid x \in \mathbb{Z}_7\right\} = \left\{x^2 \mid x \in \mathbb{Z}_7\right\} = H \quad 3P$$